HW 6.2 Key

1. An annuity-immediate has payments of $4500, $5000, and $3000 at the end of years 2, 4, and 6, respectively.
Determine the convexity of the payments evaluated at i = 5%. [9.i-n #01]
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2. An investment will return $4000 in 3 years and $1000 in 7 years. Determine the ratio of the convexity of the
payments to their modified duration, evaluated at i = 8%. [9.i-n #03]
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3. Find the convexity of a 4-year bond paying annual coupons of 4% and yielding 5.5% annually. [09i_B3]
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4. Find the convexity of a perpetuity that makes annual payments of 20. Assume an effective annual rate of 3.5%.
[09i_B4]
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5. A perpetuity makes payments at the end of each year. The first payment is in the amount of 19 and each

subsequent payment increases by 2. Assuming an effective annual interest rate of 4.5%, find the convexity of this
perpetuity. [09i_BS5]
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